

Subtract Fractions

Aim: to subtract fractions

Subtract the following fractions. You will need to convert the fractions so they all have the same denominator.

1. $\frac{6}{7} - \frac{2}{5} = \underline{\hspace{2cm}}$
 $\frac{\hspace{1cm}}{35} - \frac{\hspace{1cm}}{35} = \frac{\hspace{1cm}}{35}$

2. $\frac{3}{4} - \frac{8}{11} = \underline{\hspace{2cm}}$
 $\frac{\hspace{1cm}}{44} - \frac{\hspace{1cm}}{44} = \frac{\hspace{1cm}}{44}$

3. $\frac{1}{3} - \frac{1}{7} = \underline{\hspace{2cm}}$
 $\underline{\hspace{1cm}} - \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

4. $\frac{5}{6} - \frac{3}{8} = \underline{\hspace{2cm}}$
 $\underline{\hspace{1cm}} - \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

5. $\frac{8}{11} - \frac{2}{7} = \underline{\hspace{2cm}}$
 $\underline{\hspace{1cm}} - \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

6. $\frac{1}{9} - \frac{1}{10} = \underline{\hspace{2cm}}$
 $\underline{\hspace{1cm}} - \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

7. $\frac{3}{4} - \frac{6}{25} = \underline{\hspace{2cm}}$
 $\underline{\hspace{1cm}} - \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$

8. $\frac{4}{13} - \frac{3}{12} = \underline{\hspace{2cm}}$
 $\underline{\hspace{1cm}} - \underline{\hspace{1cm}} = \underline{\hspace{1cm}}$